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THM 348 Service Operations Management
Final Exam Answer Sheet
1. What quality tool is used to detect whether there is any improvement in a process post to taking corrective actions? (1 Point)

Run Chart is the quality tool used to detect whether there is any improvement in a process post to taking corrective actions.

2. Edward Deming mentioned in its 14-point program: “Eliminate numerical goals for the workforce”. Could you briefly explain this very point? (2 Points)

By this very statement, Deming meant that goals, slogans and posters cajoling workers to increase productivity should be eliminated. Such exhortations cause worker resentment, because most of the necessary changes are outside their control.

3. Could you come up with any 2 differences between ISO 9000 and Six Sigma? (2 Points)
	ISO 9000
	Six Sigma

	A framework for creating “Quality Thinking”.
	A framework for linking improvement to profitability.

	Facilitates process management through documentation and compliance.
	Facilitates dramatic improvement to achieve performance excellence.

	Specifies all business functions except accounting.
	Specifies a methodology for improvement, irrespective of functionality.

	Promotes management responsibility through communication and management review.
	Requires leadership to aim at highest performance with high profitability.

	Main aspect is compliance to documented practices and improving effectiveness.
	Main aspect is to achieve and maintain a high improvement rate for business aspects that affect profitability.

	About 50,000 companies have implemented it worldwide.
	Has been adopted by several companies to achieve dramatic improvement and profitability.

	Savings are difficult to quantify.
	Companies have reported huge savings in production and service areas.

	Mass applications of the standards.
	Selectively used by companies committing to be best in class.

	It is a third-party certification.
	It is a methodology to optimize performance and maximize profitability.

	Is on decline due to diversifications in series.
	Growing rapidly as an attractive means to realize superior financial results.


4. What strategic initiatives can be used to decrease the impact of uncertainties in service operation companies?  (2 Points)

Some strategic initiatives that can be used to decrease the impact of uncertainties in service operation companies can be as follows:
· Implementation of total quality control techniques such as statistical process control → helps to improve manufacturing reliability.

· Investigating more dependable transportation modes.

· Making changes in product design as to allow the manufacturing operations to stock uncompleted products and postpone the final customization → helps to increase responsiveness to customer orders.

5. In the following “Taxonomy for Outsourcing Business Services” table, could you place the following services in the respective places? (2 Points)

· Education

· Maintenance

· Janitorial

· Call Center

	
	
	
	Importance of Service

	
	
	
	
	

	
	
	
	Low
	High

	
	
	
	
	

	Focus of Service
	Property
	Janitorial 
	Maintenance 

	
	People
	 
	Education 

	
	Process
	Call Center 
	 


6. What is the major risk of service diversification? How can service operation firms overcome this very problem? (2 Points)

The major risk of service diversification is potential loss of focus and neglect of the core service. To overcome this very problem, service operation firms use a strategy called “Concentric diversification”.

7. Contrast “Multidomestic Strategy” to ”Transnational Strategy”? Provide an example (i.e. name of service operation companies) for each of the very strategies. (2 Points)
While “multidomestic strategy” refers to a generic international strategy geared towards low global integration and high local responsiveness (at the same time), “transnational strategy” refers to a generic international strategy geared towards high global integration and high local responsiveness at the same time.
Examples of service operation companies adopting multidomestic strategy can be as follows:

· Fulbright and Jaworski (Law companies).
· Booz Allen Hamilton (Consulting Company).

· McGraw Hill (Publisher).

Examples of service operation companies adopting transnational strategy can be as follows:

· Toys”R”Us company.
· McDonald’s (recently).

8. Briefly explain “Power Distance Index”? What does low power distance ranking indicate? (2 Points)

Power distance index focuses on the degree of equality, or inequality, between people in the country’s society. A low power distance ranking indicates the society de-emphasizes the differences between citizen’s power and wealth. In these societies, equality and opportunity for everyone are stressed.
9. During the past season, Şamp Resort Hotel did not achieve very high occupancy rates despite a reservation system that was designed to keep the hotel fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Resort Hotel was fully booked, revealed the record of no-shows as shown in the below table:
	No-shows
	Probability
	Reservations Overbooked
	Cumulative Probability

	
	
	
	

	0
	0.03
	0
	0.00

	1
	0.05
	1
	0.03

	2
	0.07
	2
	0.08

	3
	0.09
	3
	0.15

	4
	0.11
	4
	0.24

	5
	0.16
	5
	0.35

	6
	0.11
	6
	0.51

	7
	0.09
	7
	0.62

	8
	0.08
	8
	0.71

	9
	0.10
	9
	0.79

	10
	0.11
	10
	0.89


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 85.
a) Calculate the Expected Number of No Show Rooms. (2 Points)
· Expected number of no show rooms = (0.03 * 0) + (0.05 * 1) + (0.07 * 2) + (0.09 * 3) + (0.11 * 4) + (0.16 * 5) + (0.11 * 6) + (0.09 * 7) + (0.08 * 8) + (0.10 * 9) + (0.11 * 10) = 0 + 0.05 + 0.14 + 0.27 + 0.44 + 0.80 + 0.66 + 0.63 + 0.64 + 0.90 + 1.10 = 5.63 rooms.
b) Calculate the Expected Opportunity Loss. (1 Point)

· Expected Opportunity Loss = 5.63 * 85 = $ 478.55.

In order to avoid some of this loss, Şamp Resort Hotel management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Şamp Resort Hotel has made arrangements with a nearby Resort Hotel (Yon Resort Hotel) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 155 per turned out guest.
c) Fill the below Overbooking Loss Table (4 Points)
	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.03
	$0
	$155
	$310
	$465
	$620
	$775
	$930
	$1,085
	$1,240
	$1,395
	$1,550

	1
	0.05
	$85
	$0
	$155
	$310
	$465
	$620
	$775
	$930
	$1,085
	$1,240
	$1,395

	2
	0.07
	$170
	$85
	$0
	$155
	$310
	$465
	$620
	$775
	$930
	$1,085
	$1,240

	3
	0.09
	$255
	$170
	$85
	$0
	$155
	$310
	$465
	$620
	$775
	$930
	$1,085

	4
	0.11
	$340
	$255
	$170
	$85
	$0
	$155
	$310
	$465
	$620
	$775
	$930

	5
	0.16
	$425
	$340
	$255
	$170
	$85
	$0
	$155
	$310
	$465
	$620
	$775

	6
	0.11
	$510
	$425
	$340
	$255
	$170
	$85
	$0
	$155
	$310
	$465
	$620

	7
	0.09
	$595
	$510
	$425
	$340
	$255
	$170
	$85
	$0
	$155
	$310
	$465

	8
	0.08
	$680
	$595
	$510
	$425
	$340
	$255
	$170
	$85
	$0
	$155
	$310

	9
	0.10
	$765
	$680
	$595
	$510
	$425
	$340
	$255
	$170
	$85
	$0
	$155

	10
	0.11
	$850
	$765
	$680
	$595
	$510
	$425
	$340
	$255
	$170
	$85
	$0

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	478.55 
	400.75 
	334.95 
	285.95 
	258.55 
	257.55 
	294.95 
	358.75 
	444.15 
	548.75 
	677.35 

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
According to the above overbooking loss table, 5 rooms shall be overbooked, since, this very scenario yields the least expected loss.

N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
10. Provide any example of a strategy service operation companies might use to differentiate pricing to manage demand. (1 Point)
Some strategies service operation companies might use to differentiate pricing to manage demand can be as follows:
· Weekend and night rates for long-distance telephone calls.

· Matinee or reduced prices before 6 PM at movie theaters.

· Off-season hotel rates at resort locations.

· Peak-load pricing by utility companies.

Good Luck
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